@vaadqaoa RUYJbeypk

a/ULRRYJL 10KR41
v bARE (mm)
3.0:3.2:3.5-4.0-4.5-4.8
5.0:55:6.0-6.5

FEff 19,200/

ByFT TR 744

Ty bAE (mm)
JJ)ULRRUJL:25-3.3:4.2-5.0-6.8-8.5-10.3

FEff 20,600/

A/NLRRYIL - BT Yk
Ty hAS ()
JJULMRUJL:25-3.3:4.2-50-6.8-8.5-10.3
Z2NAS)PwvT (SUS) :M3:4:5:-6:8-10-12

FEff 39,000/

S 7

REWE : E= (J>O—F1>70)

(ERARFUR) =D s

a/8LRRY )L 15848
v bARZE (mm)
3.0-35:-40:45-50-55-6.0:-6.5
70-75-8.0:-85-9.0-9.5-10.0

Effi 44,100/

a/8LRRYIL 21848
v bRE (mm)
3.0-35-40-45:-50-55-6.0-6.5
70-75-8.0-85:9.0-9.5-10.0
10.5-11.0-11.5-12.0-12.5-13.0

FEff 78,600MH

~

ERZ TR 5

J

FEff 12,000/

~105 125 127 14.5

Effi 25,000/

D=

FAUR)IL 13F41
v bRE (mm)
1.5-2.0-25-3.0:-3.2:-3.5:-4.0
45-48-50-55-6.0-6.5

FEffi 12,000

ME :

J\AXHA (HSS)

REME : FH>D—F 20

5 20-25-3.0-3.5
*50:55:6.0-6.5-7.0
.5:8.0-85-9.0:-9.5-10.0

Eff 16,000MH

A
¢ f
{7

FRUR) )L 25F 41
v bRE (mm)
1.0-15-2.0-25-3.0:-3.5-4.0
45-50:-55-6.0-6.5-7.0
7.5-8.0-:-85-9.0-9.5-10.0
10.5-11.0-11.5-12.0+-12.5-13.0

JEffi  40,000MH

J

Kokusai

HX=xt3OY T

MR REFEUCERTHELNHYET DT, CTHR TS, 2024, 10. 22




“@and1o

~AEHERYILEYH

RAWI/ILERY L -2y TRy
AvT v MRS (mm) RUL v MARE (mm)
M4x3 M5x1 M6x1 25:33-35-42-45

48-50-55-6.0:6.5

Effi 44,200/

RAE (S a—k)a/ LRI L
By Tty
RUJL v bARE (mm)

25:33:35-4.2-45
50:55:6.0:6.5-6.8

AFvT v RS (m)
M4x3 M5x1 M6x1

Effi 33,000

[ (&E70m - BE30m) )

\ S

TISIVSEYIL (R7ULR-88]) e /0L (HSSCo)

REA#ED/NLERYIL 10K48A
v bRE (mm)
25:3.3:35+42-45
4.8-50-55-6.0-6.5

Effi 25,400

(£&70mm - BzhE30mm)

NAE (S a—k)as LRI L
10&#HA

Ty A (mm)
25:3.3-35-42-45
50:55-6.0-65-6.8

Effi 14,200

ZIRUN HE ;)\ A R38 (HSS)
.

A IRORS1 15—

N

RA#WI/NILERYJL 104K48B
Ty A (mm)
25:33-35-42-45

x 2tzy b~

FEf 22,400MH

(£&70mm - BzhE30mm)

NAE (S a—k)as LRI L

10441B
Y A (mm)
25:33-35-42-45
x 2ty bk

Effi 11,200/

A/ ULMRYIL 5A4E
v bARZE (mm)
25-3.3:3.5:4.2-45

Effi 11,200M

(£&70mm - BzhE30mm)

A (S a—r)ass LRI
5&#H

Ty bAE (mm)
25-3.3-3.5-42-45

Eff 5,600M

ANAMBIRYIL 10K
v bRZE (mm)
2.5-3.3-35-4.2-45
48-50-55-6.0:6.5

Effi 15,000

\

NAMBKIRIL 5K
v bRE (mm)
8.0-9.0-10.0-12.0-13.0

FEffi 26,000

S

( ( N ( ) ME : )\« 23 (HSS)
il g il
RAWE/LZILR)IILEFHHE AEEWEILZILEY L NAWME/LZILEYIL NRAWR/NLT5)V4yT 5X4
(3.4) 6448 (3.5) 644
v FARZE (mm) v FARE (mm) v FRE (mm) v FARE (mm)
3.5-4.0-45:-50-6.0 3.4 x 6K 3.5 x 6K M4x 3 M5x1 M6xX1
Efi  10,000M Efi 10,000M Efi  10,000M Effi 18,800
\_ W, \_ _J \_ W, \_
XAERIEFELKEERTIENHYFET DT, CTHRTSLY, 2025. 4. 21
b - |y I S
7 AN & Kokusai

HXX=t3o9Y9 T

J

NEHRANAIS NI YT




A9 THFUN BE—ER

(No. P10—6050—B4)

#%IFYJL(HSS) RABMEKIR)IL(HSS) 3/%JLRRYJL (CoHSS)
NN —— S

SEEES TE i SEEES TE il SERES TE il SEEES TE fifl SERES TE fifl
#HIFYIL 0.3| 750||#&TFYIIL 7.0| 1,300 |A<&#@&IFYIL 1.8 1,000 |3/3LRFYL 2. 5| 1,010||3/NLARYJL 9. 6| 4460
IR 0.4| 630|[#IFYIL 7. 1| 1,370| |<"A#@&EIRYIL 2. 0| 1,000] |3/%LRRYJL 3. 0| 1,050||(3/8)LRRYIL 9. 7| 4460
IR 0.5 570||#IFYIL 7.2| 1,370| |<A#@EIRYL 2. 1| 10000 |3/%5LRRYJL 3. 1| 1,130||3/8LRRY L 9. 8| 4460
IR 0. 6| 500||#IFYIL 7.3| 1,370| |A#@EIRYIL 2. 2| 1,000] |3/%5LRRYIL 3. 2| 1,130||3/8LRRY L 9. 9| 4460
IR 0.7 470||#IFYL 7. 4| 1,370| |<@#@ETRYL 2. 3| 1,0000 |3/35LRRY)L 3. 3| 1,130||3/VLRRYJL  10. 0| 4,460
HIRYL 0.8| 440||8&TFYIL 7.5| 1,370 |Af@@#IRUL 24| 1,000 [3/3LRRYIL 3. 4| 1,130{|2/%LrRYJL  10. 2| 7,350
IR 0.9 430||#IFYIL 7.6| 1570| |<@A#@ETRYL 2.5 1,0000 |3/35LkRY)L 3. 5| 1,130||3/VLRRYJL  10. 3| 7,350
IR 1.0|  400||#ITFYL 7.7| 1,570| |<A#@MEIRYIL 2. 6| 10000 |3/%LRRYIL 3. 6| 1,250||3/VLRRYJL  10. 5| 7,350
IR 1.1] 400 |# T KL 7.8| 1,570| |<A#@&EIRYIL 2. 7| 10000 |3/%LRRYIL 3. 7| 1,250||3/VJLRRYJL  11. 0| 7,900
IR 1.2| 400 |#IFYIL 7.9| 1570| |~<@#@&ETrYL 2. 8| 1,0000 |3/35LkRY)L 3. 8| 1,250||3/VLRRYJL  11.5] 8110
IR 1.3| 400 |#IFYIL 8. 0| 1,570| |/<A#@&EIrYIL 2 9| 10000 |3/%LRRYIL 3.9| 1,250||3/VLRRYJL  12. 0| 8,820
HIRYIL 1.4 400 |#IFYIL 8. 1| 1,720| |/<A#@#&%IRY)L 3. 0| 1,000] |3/VLRRYIL 4.0[ 1,250|[3/%LRRYJL - 12, 5] 9,450
IR 1.5| 400 |#IFYIL 8. 2| 1,720| |<A#@&EIFYIL 3. 1| 1,100] |3/VLRRYIL 4.1| 1,500|[3/%LRRYJL - 12.7]10,290
HIRYIL 1.6| 400 |#IFYIL 8. 3| 1,720| |A#@&EIRFYIL 3. 2| 1,100] |3/VLRRYJL 4. 2| 1,500|[3/%LERYJL - 13. 0] 10,290
IR 1.7 400||#& IRV 8. 4| 1,720| |~@#@&TrYL 3. 3| 1,100] |3/35LkRYL 4. 3| 1,500
IR 1.8 400||#& IRV 8. 5| 1,720| |<A#@&TFUIL 3. 4| 1,100 |3/N)LRRY)L 4. 4| 1500 . oL e
$IRUL 1.9 400|[8TFUL  8.6| 1930 |ABMEIFIL 3.5] 1100 [S/ALREUL 4. 5] T500|| TN WA/ ULEEUIL(COHSS)
STRY)L 2.0| 4o00||s&TryNL 8. 7| 1,930| |~A#@#EIFKYIL 3.6| 1,200 |3/85LERUIL 4.6| 1520|| eneseneae———
IR 2.1 400||#& TR 8. 8| 1,930| |AA@&TFUIL 3.7| 1,200 |3/NLRRYIL 4.7| 1,520
STRYL 2.2  400||#&IFUIL 8. 9| 1,930| |~@Am#@mM&%TrYL 3.8| 1,2000 |3/35LkRYJL 4. 8| 1520 o py
IR 2.3 400|[&IFUL 9. 0] 1,930 |AmmsxTruL 3.9 1200 [3/5LRRUL 4. 9] 1520 -
HIRYIL 2. 4]  400||$kTFUL 9. 1| 2210| |AB@#HIRY)L 4. 0| 1,200 |3/3LRRY)L 5. 0| 1,520||~fsz/ Lk 1.5/ 1,800f
BHIRYIL 2.5| 400||#IKRYIL 9. 2| 2210| |A<&E#@HIFYIL 4. 1| 1,300 |3/3LRFYL 5. 1| 1,790||/<&82/\Lk 2. 0| 1,800|
IR 2.6| 400||#&IFUIL 9. 3| 2,210| |AA#@MEIFYIL 4. 2| 1,300] |3/%LRRYIL 5. 2| 1,790||/<fA&#a/ Lk 2.5| 1,800|
BHIRYIL 2. 7| 400(|8kTFUL 9. 4| 2210| |Af@#HIRUL 4. 3| 1,300] [3/3LRRYIL 5. 3| 1,790||Afsmz/ Lk 2. 8| 1,800|
IR 2.8 400||#&IFUIL 9. 5| 2210| |AA#@MEIFIIL 4. 4| 1,300] |3/VLRRYIL 5. 4] 1,790||/<fA#a/ Lk 3. 0| 1,800|
HIRYIL 2.9| 400||#&IFUIL 9. 6| 2480| |AA#@MEIFJIL 4.5 13000 |3/VLRRYIL 5. 5| 1,790||/<f#a/ Lk 3. 2| 1,900|
SBIRYIL 3.0 400||#%IFUL 9. 7| 2480| |Af@m#IRUL 4.6| 1,400] |[3/3LRRYIL 5. 6| 2,040||AfmBEz/ Lk 3. 3| 1,900|
BIRYIL 3. 1| 470||#IFYIL 9. 8| 2480| |AA#@MEIFJIL 4. 7| 14000 |3/VLRRYIL 5. 7| 2,040|)/<fEa/ Lk 3. 4| 1,900|
SBIRYIL 3. 2|  470||#%IFUL 9. 9| 2480| [|Afm@EHIRUL  4.8| 1,400] [3/3LRRYIL 5. 8| 2,040||AfBEz/ Lk 3. 5] 1,900|
BHIRYIL 3. 3|  470||#%IFUL 10. 0| 2,480| |~MmEETIRUL 4.9| 1400 |[3/NLRRYIL 5. 9| 2,040||AfsEz/ Lk 3. 6| 2,000|
BHIRYIL 3.4 A70||#%IFYL 10. 1| 2,730| |A<&&#EIFY)L 5. 0| 1,400] (3/8)LRRYIL 6. 0| 2,040||/<f&a/ Lk 3. 7| 2,000|
BIRYIL 3.5 470||#IFYL 10. 2| 2,730| |A<&@EIFY)L 5. 1| 2,000 (3/3LRRYIL 6. 1| 2,310||/"fA&a/ Lk 3. 8] 2,000|
$BIFYIL 3.6| 520||#&TFUJL 10.3| 2730 |ABEHKIFUL 52| 20000 [3/VLRRYL 6. 2| 2,310||/< A8/ Lk 4. 0| 2,000|
SBTRY)L 3. 7 590| |[# TRY L 10. 4| 2,730| |~<A#EIRYL 5.3| 2,000 |3/85LRRUIL 6. 3| 2,310||/<AE#a/ )Lk 4.2 2,500|
SBTRYL 3.8 590| |[#& TRY L 10. 5| 2,730| |AA#@=:HKIRYIL 5. 4| 2,0000 |3/8LkRY)L 6. 4| 2310||/<AEa/\LE 4.5 2,500|
;IR 3.9 520|[#&TFYIL 10. 6| 3,070| |A&@HTIREY)L 55| 20000 |3/8LRRYIL 6. 5| 2310||/<&Ea/ ULk 4. 6| 2,500]
IR 4.0| 520||8IKYIL 10. 7| 3,070| |A<&&@EIFY)L 5.6| 2,100] [(3/3LRRYIL 6. 6| 2,510||/<fA&a/ Lk 4. 8] 2,500|
FHIRYIL 4. 1| 630||#%ITKY)L  10.8| 3070 |AE@m#HIFYL 5. 7| 2,100] |3/vLRRYL 6. 7| 2510||<"&@a/\LE 5. 0| 2,500}
IR 4.2 630||#&ITKRYIL 10. 9| 3,070| |AA@fTrRYL 5.8 2,100 |3/8LRRYIL 6. 8| 2510|| <&/ Lk 5. 2| 3,200|
BHIRYIL 4.3| 630||#%IFUL 11.0| 3070| |~f@E#TIrYL 5.9] 2100 |[3/NLRRUIL 6. 9| 2510||AfmaEz/LE 5. 5] 3,200]
FHIRYIL 4.4 630[|#TKRYIL  11.1] 3400 |AE®SHIFYL 6.0 2,100] |3/NLRRYIL 7. 0| 2510(|<&#@a/LE 6. 0| 3,200}
HIRYL 4.5 630||#%IFUL 11. 2| 3400| |A<A&@#BIFYL 6.5 2,300] |2/3LkKYL 7. 1| 2,660||AfEz/ Lk 6. 5| 3.200|
HIRYL 4.6|  720||B%IFUL 11. 3| 3,400 |Af@E#TIrYL 7.0 2500 |[3/NLRRYIL 7.2| 2,660
IR 4.7 720||#&IRYIL 11. 4| 3,400| |<&E@WBKTRY)L 7.5| 2900| |3/8L8RYIL 7. 3| 2,660|| ABA#H(Za—F)
$BIFYIL 4.8 720[|#%TKYJL  11.5| 3400 |AHEE@HEIFYL 8.0| 3,100| |3/%LRRYIL 7. 4| 2,660 /3L RFY JL (GoHSS)
SHIFYIL 4.9 720|[#TKU 11.6] 3590 |Am@HKIFYL 8. 5| 3400| [3/NLRRULL 7. 5| 2,660||(E&R70m-FHEhR30mm)
BIFL 5.0 720|[&TFyr 11, 7| 359| |~mm@TruL o o| 3800 |=/LRRUL 7. 6| 2,780 )
STRYL 5.1 830||#& T FUJIL 11. 8| 3,590| |~<A#Es&TrYL 9.5| 4200 [3/5LRRYIL 7.7| 2,780 e oy
BHIFYIL 5 2| 830|[#&TFU)L  11.9| 3590 |[~&#EETrUIL 10 0| 4300 [3/5LFRUL 7. 8] 2,780 i
BHIRYIL 5. 3| 830||#TrUL 12. 0| 3590 |AfmEETIRYL 10. 5] 4500 |[3/NLRFUIL 7.9| 2,780||~BE@(a—r) 2 .5| 1,000]
SBIRYIL 5.4 830||#TrUL 12. 1| 3,950| |AMmETIRYL 11. 0| 4800 |[3/NLRRUIL 8. 0| 2,780||~m#m(a—r)  3.3] 1,000|
BIRYIL 5.5/ 830||#&IFUJL 12. 2| 3,950| |A<A&EEIFYIL 11. 5| 5000] [(3/3LRRYIL 8. 1| 3.360||~<fm(a—r 3. 4] 1,000|
SBIRYIL 5.6 960||#ITFrUL 12. 3| 3,950 |AMmETIRYL 12. 0| 5400 |[3/NLRRUIL 8. 2| 3360||~<fm(a—r 3.5 1,000|
SBIRYIL 5.7 960||#ITFrUL 12. 4| 3950| |AM@mETIRYL 12. 5] 5900 |[3/NLRRYIL 8. 3| 3.360||~<mE(a—r 3.7] 1,200|
SBIRYIL 5.8 960||8ITFrUL 12. 5| 3,950 |AMmETIRYL 13. 0| 6,600 |[3/NILRFUIL 8. 4| 3360||~<fE(a—r 4. 2] 1,300]
HIFYIL 5.9| 960||#IKrUIL 12. 6| 4,240| |AFA@BIEY)L 13. 5| 7,300] |3/8LkRYL 8.5| 3360||~<fE(a—r 4. 5] 1,300]
HIRYIL 6.0 960|[#&xTFJIL 12. 7| 4,240| |"E&#MBEIRYIL 14. 0| 7,700] |2/8LRRYIL 8. 6| 3530||~<fE(a—r 4. 8] 1500|
HIRYL 6. 1| 1,080||[8&TFYIL 12. 8| 4,240 |AB=#TIFYL 14. 5] 8,100] |[3/NILRFUIL 8. 7| 3530||~f#(a—r 5. 0] 1,500|
HIRYIL 6. 2| 1,080|[#&TFYIL 12. 9| 4240 |AB=EHTIFYL 15. 0] 9,100] |[3/NLRRUIL 8. 8| 3530||<fE(a—r 5. 2| 1,800|
BITRY)L 6. 3| 1,080||#&IFUIL 13. 0| 4,240| |AfE#TIFYL 16.0[10,100] |[3/NLRRUIL 8. 9| 3530||~<fE(a—r 5.5 1,800|
SBTRYL 6. 4| 1,080 XAE7.0mmA b (F—ABIVHL- B a/NLRRYJL 9. 0| 3,530||<A#(a—F) 6.0 1,800|
STRYL 6. 5| 1,080 a/8)LRRY L 9. 1| 4.270||~A#(Ea—r 6.5 2,000|
STRYL 6. 6| 1,300 a/8)LRRY L 9. 2| 4270||~A@(Ea—r 6.8 2000|
STRYL 6. 7| 1,300 o usul a/8)LRRY L 9. 3| 4.270||~AE(Ea—r  7.0] 2300|
TR 6. 8| 1,300 a/8)LRRY L 9. 4| 4270||~m@(a—r) 8.5] 3,100|
FEISII 6. 9| 1.300 KXt Y T INLRRYL 9. 5| 4270||~mE(a—r)  10. 5] 4,000|

MAEFREFEUCERTIENHYFETOT, CTH TS, 2025.1.8



G aAntL0o

=]

A >

|| —%&

l\ﬁﬁﬂZl\'f’HL’i )

AT+
F31ii—

Xek-7ILS-EHKA

By THAX (FRN) aHE EfOAR) | FE
M3 Xx0.5 (2.5mm) 15mm| 3,300M
M4 x0.7 (3.3mm) 1omm| 3,300H
M5 x0.8 (4.2mm) o 18mm| 4,200H
M6 x1.0 (5.0mm) 17mm| 4,700H
M8 x 1.25 (6.8mm) 21mm| 5,400
M10x 1.5 (8.5mm) 24mm| 5,900H
M12 % 1.75 (10.3mm)| 82mm [ 40mm| 8,300H

[ﬂﬁnzh4vuav1 0y%7)

3

v

By THAX (FR) k| EMOKR) | B &
M3 x0.5 (2.5mm) 15mm| 5,500H
M4 x0.7 (3.3mm) 1omm| 5,500H
M5 x0.8 (4.2mm) 1 20m 18mm| 6,000M
M6 Xx1.0 (5.0mm) 17mn| 6,400M
M8 x1.25 (6.8mm) 21mm| 7,900M
M10x 1.5 (8.5mm) 24mm| 9,000H

FFIb KAy KNG —

SuUSxtiG

) — %A

WITIAX TN mam] BE |ZEOR] FE
M3.0 xX05 (2.5) 1,600 1,800H
M40 x0.7 (3.3) 1,600H 1,800H
M50 xXx0.8 (4.2) 1,600 1,800H
M6.0 x1.0 (5.0) 1,700M 2,000H
M80 x1.25 (6.8) 2.,500H 2,800H
M10.0x1.5 (8.5) 3,100M 3,500H
M12.0x1.75 (10.3)| 4,300H 4 .800H

Kokusai

#®X=x23O9Y9 T

TRAYTRILA—

Y4 X E i YA X E il
M1~M5 | 1,300 ||mM3~M10| 6,100
M3~M6 | 1,400 ||M5~M13| 7,400
M5~M10| 1,600M
M6~M13| 2,700M

Xt UROHREN R L—Z !
XINIC<L !
KRQARZ WL !

ZHHAZX10KA
EHEHEAEIEE

HAEREFEUCKERTIENHYET DT, CTHRTEL, 2024. 4. 22




YT TNERR(A—FILRLCOTRE—ER)

— — -
HURE S 'F?'fié 100% U;);J R —Fslo\"/:% 70% |l7tt~1/E j;éa EJ“(,];

M2 0.4 1.6%, 157 1.61 1.65 1.7 1.567~1.679
M2.3 0.4 1.9%, 1.87 1.91 1.95 2 1.867~1.979
M2.5 0.4 2.1 5y 2.06 2.11 2.16 2.2 2.067~2.180
M2.6 0.45 2.2%, 2.11 2.16 2.21 2.26 2.113~2.238
M3 0.5 2.5%, 2.46 251 257 262 2.459~2.599
M3.5 0.6 2.9%, 2.85 2.92 2.98 3.05 2.850~3.010
M4 0.7 3.3%, 3.24 3.32 3.39 347 3.242~3.422
M5 0.8 4.2%, 413 422 4.31 4.39 4134~4.334
M6 1.0 5.0%, 492 5.03 513 5.24 4917~5.153
M8 1.25 6.8%, 6.65 6.78 6.92 7.05 6.647~6.912
M10 15 8.5%, 8.38 8.54 8.70 8.86 8.376~8.676
M12 175 10.3%, 10.11 10.30 10.48 10.67 10.106~10.441

a2y T DEE B

NEBEOEKRTE — TRE
VDoMUY E (%) = x 100
2 x HERQLCLUES

!

HRCAETE=TNRTHE

HEZERCLES l
A
A—RML-2a=T774HL Y
=P x 0. 5413 60° =
————————— [ N /et I il D
s O\,
e . S \—
(ALt CE#E LA E)
Tﬂ-llg v 2:kIL%4— TRy THRILE — 7$Iu,|~ /gu,]ﬂw—i SFrubREYTRILE—
/ | »1x % &= ( 1 44z %
— M1~5 1. 300H - / > ( =] M3~10 6, 100H
M3~6 1, 400M ¥ 8l (| = M5~12 | 7, 400M
} ( 1 ms~10 | 1, 600H _ N_-(;““_
_\)" M6~13 | 2, 700M | (L ()-

Kokusai

#HX&s#I O Y T MAR T EACEET 2 ERBYET DT, CTHFAL, 2019, 4. 16




A 27)—bkRJIEXR.. .. ...

avH)—kRYJL (SDSEAT)

aAVHY—rRYIL(RRL—FE2 1)

AS x 2R E il AS x 2R E il A= x 2K E il A= x 2K E il A= x 2K E il
3.4 x 110| 2510/ [17.5 x 200] 61200 | 2.5 x 100] 1,390/ [ 17. 0 x 200| 4,320] [12. 0 x 300]| 5,760
3.5 x 110| 2510/[18. 0 x 200] 6,120 | 3.0 x 100] 1,390] [17. 5 x 200] 4500/ [12. 5 x 300[ 6,390
3.8 x 110| 2510/ [19. 0 x 200] 68400 | 3.2 x 100| 1,390/ | 18. 0 x 200[ 4500 [12. 7 x 300] 6,390
4.0 x 110 2510|[20. 0 x 200 75600 | 3.4 x 100 1,390/ [ 19. 0 x 200] 4,950/ [13. 0 x 300[ 6,390
4.3 x 110| 2510 [21.5 x 200 77400 | 3.5 x 100] 1,390 [20. 0 x 200] 5,490/ [ 13. 5 x 300] 6,390
4.5 x 110 2510/ [22. 0 x 200 7,740 | 3.8 x 100 1,390/ [21. 0 x 230| 5940/ [14. 0 x 300[ 6,840
4.8 x 110 2510/ 8.5 x 300 85500 [ 4.0 x 100] 1,390 [21.5 x 230[ 6,390 [ 14. 3 x 300] 6,840
5.0 x 110 2510/[10.5 x 300 85500 | 4.3 x 100] 1,390] [22. 0 x 230] 6,390 [ 14. 5 x 300[ 6,840
5 5 x 110| 2610/ [12. 0 x 300 90000 | 4.4 x 100| 1,390] | 22. 5 x 230[ 7,200/ [15. 0 x 300] 6,840
6.0 x 110[ 2610|/[12.5 x 300 9450] | 4.5 x 100] 1,390] [23. 0 x 230 7,200 [ 16. 0 x 300[ 6,840
6.4 x 110| 2,700/ [12.7 x 300] 94500 | 4.8 x 100 1,390] | 24. 0 x 250 7,560 [17. 0 x 300] 7,560
6.5 x 110 2700|[14. 0 x 300 9900] | 5.0 x 110] 1,480][25. 0 x 250 8,280/ [17. 5 x 300[ 7,560
3.4 x 160 2920][14. 3 x 300 99000 | 5.2 x 110| 1,480||25. 4 x 250 8910/ [18. 0 x 300] 7,560
3.5 x 160| 2920|[14.5 x 300] 105000 | 5.3 x 110] 1,480|[26. 0 x 250 9450/ [ 19. 0 x 300[ 7,560
4.3 x 160| 2,920 [10.5 x 400] 11,4000 | 5.5 x 110] 1,480 [27. 0 x 250] 9,450/ [ 20. 0 x 300] 9,360
4.5 x 160] 2,920 [12. 0 x 400] 11,400 | 5.6 x 110 1,480/ [30. 0 x 250 12,690| [21. 0 x 300[ 9,360
4.8 x 160| 2920/ [12.5 x 400] 114000 [ 5.7 x 110] 1,480/ [32. 0 x 250 13,320] [21. 5 x 300] 10,530
5.0 x 160[ 2920|[12. 7 x 400] 11,4000 | 6.0 x 110] 1,480][35. 0 x 250 17,100 [22. 0 x 300 10,530
5 3 x 160| 2920 [14.0 x 400] 11,4000 | 6.2 x 110| 1550/ |38. 0 x 250[ 19,800] [ 23. 0 x 300] 12,960
5 5 x 160| 2920|[14. 83 x 400] 11,400] | 6.4 x 110] 1550|[45. 0 x 250 39,600] [ 24. 0 x 300 12,960
6.0 x 160| 2920][14.5 x 400| 11,4000 | 6.5 x 110| 1550/| 4.0 x 200 3,330| [ 25. 0 x 300] 12,960
6.4 x 160 2920|/[16. 0 x 400] 143000 | 7.0 x 130] 1,800/ 4.4 x 200]| 3,330/ [ 28. 0 x 300 16,020
6.5 x 160 2920/ [17.5 x 400] 143000 | 7.2 x 130| 1,890/| 4.8 x 200| 3,330| [ 30. 0 x 300] 16,920
7.0 x 160| 2920/ [18. 0 x 400] 143000 | 7.5 x 130] 1,890]| 5.0 x 200 3,330| [ 32. 0 x 300 19,800
7.5 x 160 2920 [19. 0 x 400] 153000 | 8.0 x 130| 2070|/| 5.2 x 200| 3,330| [ 35. 0 x 300] 21,060
8.0 x 160| 2920][20.0 x 400]| 16,1000 | 8.5 x 130| 2250/| 5.6 x 200| 3,330] [ 38. 0 x 300][ 23,760
8.5 x 160| 3.330][22.0 x 400| 16,1000 | 8.7 x 130| 2430/| 6.0 x 200] 3,330

9.0 x 160| 3.330][24.0 x 400] 17,1000 | 9.0 x 160| 2430/ 6.4 x 200] 3,690

9.5 x 160| 3510/ [25.0 x 400] 17,1000 | 9.5 x 160| 2610/| 6.5 x 200] 3,690
10. 0 x 160] 3510/ [26. 0 x 400] 18,0000 | 10. 0 x 160] 2610][ 7.0 x 200] 3,690
10.5 x 160| 3510/ [28. 0 x 400| 186000 | 10. 5 x 160 2880/ | 7.5 x 200| 4,050 [ RFEL—FFUL FEHE
11.0 x 160 3510/ [30.0 x 400 18,9000 [ 11. 0 x 160] 3060][ 8. 0 x 200 4,050 AE(5)) AHCY)
12.0 x 160 3,600/ [32. 0 x 400 19,8000 | 11.5 x 170 3060] [ 8.5 x 200 4,230 2.5~ 4.8 50
12.5 x 160 3,710/ [12. 0 x 1000] 21,6000 | 12. 0 x 170] 3,150] [ 9.0 x 200] 4,230 5 0~ 6.5 60
12.7 x 160 4050/ [12. 5 x 1000] 21,6000 | 12. 5 x 170 3,150] [ 9.5 x 200 4,860 7.0~ 8.7 80
13.0 x 160] 4,050 12.7 x 170 3,150/ [10. 0 x 200| 4,860 9.5~13.5 | 100
13.5 x 160]| 4410| [ spsa1F2&/E0& =l | 13. 0 x 170] 3,150/ [10. 5 x 200| 5,400/ [ 14.0~14.5 [ 110
14.0 x 160]| 4,410 £50C)) #9C) ] |13. 5 x 170 3510/ 8.0 x 300 4410|| 15.0~16.5 [ 120
14. 3 x 160]| 5,220 110 50 14.0 x 170| 3510|| 8.5 x 300 4410|/[ 17.0~20.0 | 130
14.5 x 160] 5,220 160 100 14. 3 x 170| 3690/ 9.0 x 300 5,130|[ 21.0~23. 0| 140
15. 0 X 160] 6,120 200 120 14.5 x 170| 3690/ 9.5 x 300 5,130| [ 24. 0~50.0 [ 150
16. 0 x 160]| 6,120 300 210 15. 0 x 200 4,050| [ 10. 0 x 300| 5,130 nuse47 | BEMG)
16. 5 x 200]| 6,120 400 330 16. 0 x 200| 4,320/ [10.5 x 300[ 5,760 £ E200mn 150
17.0 x 200] 6,120 1000 800 16. 5 x 200] 4320/ [11. 0 x 300] 5760 ££300mm 200

HER 24 LA (RRL—F) NABWMEILFILREYIL

AS x £ E il AS x £ E il RS E i RS E i

3.0 x 100| 1600/| 7.0 x 120]| 1,900 2.5 2,100 4.4 2,200) HA 2 E il
3.2 x 100| 1600/| 7.5 x 120]| 1,900 2.8 2,100 4.5 2,200) 516

3.4 x 100 1600/| 8. 0 x 120| 2,400 3.0 2,100 4.8 2,200} HEE 4,500
3.5 x 100 1600/| 8.5 x 120| 2,400 3.2 2,100 5.0 2,700} (M8)

3.8 x 100| 1,600/ 9.0 x 150| 2,700 3.4 2,100 5.3 2,700} 3.8

4.0 x 100| 1,600/ [10.0 x 150]| 3,000 3.5 2,100 5.5 2,700} 3% 4,950
4.3 x 100| 1,600/ [10.5 x 150]| 3,200 3.8 2,200 6.0 2,700} (M10)

4.5 x 100| 1,600/[11.0 x 150| 3,200 4.0 2,200 6.4 2,800) 1.2

4.8 x 100| 1,600 WMBESMILE BHE 4.3 2,200 6.5 2,800 4%y 5,400
5.0 x 100| 1,700 RE() E D) . ¢ (M12)

5.5 x 100| 1,700 3.0~ 4.8 50 a S )

6.0 x 100 1800][ 5 0~ 6.5 60 N

6.4 x 100| 1,800 7.0~ 8.5 70

6.5 x 100[ 1,800 9.0~11.0 | 100

Kokusal

=39O YT

KAMEREFEEKERETIELHYFET DT, CTHE TS 2024. 5. 8




A7 )—bRER TS - T A—-DOTFTRERK

£ :
3’? Srvevveee- | ey eevtteacer & ; ;
E A ) xU 13
& cUlbL\LE < JVFFER - PLRTUH— - ByTFay
B V(A V(A
BB SUBLE SUBLE | mnERUA | aTsER | PLRTUA— ByFay
TRE 283!) 38~903!)
3.4 SH AR (BREIW)) | 4z (BEE7099) 431) (2 =7'0v%) M4 (B27'1v))
3.5 | 28, (&E/0) 2HAR@VII—F) | smBEAT @HU—F) | 43U @ESHU—h) M4 (3> —F)
3.8 | 28%@>o—n
4.0
4. 3 38%, Lk (B=710v9) 5mna4 7 (BE7'0y9) 531) (B=70v9) M5 (B227'Av))
4.5 385, LIt (@ )—h) sMAA7 (AvoU—k) | 530 (avoU—h) VHEPZIES)
4.8
5.0
5. 1
5 3 emmaAJ (BB D)) | 63 (B8 1)) M6 (87 1))
5 5 6mmAA 7 (Avo)—k) | 630 (avs—k) M6 (3> —h)
& /
N | —
# IEEVIRILFTSY h—ILTFS54 (PC) F—ILTFSTRILE a
E .—71-.3-‘- el V \//// . =
=TSS5 (MiL) IXE—T5% (NAS) RB—T545 H—ILTS5H Rk IXE—7°74'NP
i o= =N7'39 IEEVT |IXE=TSY| h—LT55 omps | A—=WTST | h—LTZ5 o=
Fra A=L759 ML | =FTs55 | (NAS) (PC) A9-739 ALk Ak [TRET7IINP
4.0 MiL4 NP-425
4.3
4.5 6
4.8 8
5.0 MIL6 NAS525 |Zhol 5400y | NP-535
5. 1
5.3
6.0 MiLS  [INEI| NAS630 #6 6410 NP—640
6. 4 10
6.5 # 00
7.0 MiL10 %7 790)-y
7.5 12 AS- 4M | #100
8.0 14 MiL12 ) 87—
8.5 AS- 5M | #200
9.0 16
9.5
10.0 18 0 NAS1060 =RISE 107597 -
11.0 [ 6M | #300
12.0 NAS1260 128 FLyk
14.0 AS- 8M | #400
18. 0 AS-10M #500
19. 7 #600
20. 0 AS-12M

Kokusai

HX=33o0Y T

AR T GO EES DB BHIET DT C TR TS0, 2018. 2. 16




